



[image: image]








[image: ]






Hodder Education, an Hachette UK company, 338 Euston Road, London NW1 3BH


Orders
Bookpoint Ltd, 130 Milton Park, Abingdon, Oxfordshire OX14 4SB
tel: 01235 827827
fax: 01235 400401
e-mail: education@bookpoint.co.uk
Lines are open 9.00 a.m.–5.00 p.m., Monday to Saturday, with a 24-hour message answering service. You can also order through the Hodder Education website: www.hoddereducation.co.uk


© Quintin Brewer, Rachel Cole 2013
ISBN 978-1-4441-7979-8
eISBN 978-1-4441-7981-1


First printed 2013
Impression number 5 4 3 2 1
Year 2017 2016 2015 2014 2013


All rights reserved; no part of this publication may be reproduced, stored in a retrieval system, or transmitted, in any form or by any means, electronic, mechanical, photocopying, recording or otherwise without either the prior written permission of Hodder Education or a licence permitting restricted copying in the United Kingdom issued by the Copyright Licensing Agency Ltd, Saffron House, 6–10 Kirby Street, London EC1N 8TS.


Cover photo reproduced by permission of Tomislav Forgo/Fotolia


Typeset by Datapage (India) Pvt. Ltd.
Printed in India


Hachette UK’s policy is to use papers that are natural, renewable and recyclable products and made from wood grown in sustainable forests. The logging and manufacturing processes are expected to conform to the environmental regulations of the country of origin.





Get the most from this book



Everyone has to decide his or her own revision strategy, but it is essential to review your work, learn it and test your understanding. These Revision Notes will help you to do that in a planned way, topic by topic. Use this book as the cornerstone of your revision and don’t hesitate to write in it — personalise your notes and check your progress by ticking off each section as you revise.


Tick to track your progress


Use the revision planner on pages 4 and 5 to plan your revision, topic by topic. Tick each box when you have:




•  revised and understood a topic


•  tested yourself


•  practised the exam questions and gone online to check your answers and complete the quick quizzes





You can also keep track of your revision by ticking off each topic heading in the book. You may find it helpful to add your own notes as you work through each topic.
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Features to help you succeed
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Examiner’s tips and summaries


Expert tips are given throughout the book to help you polish your exam technique in order to maximise your chances in the exam.


The summaries provide a quick-check bullet list for each topic.
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Typical mistake


The authors identify the typical mistakes candidates make and explain how you can avoid them.
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Now test yourself


These short, knowledge-based questions provide the first step in testing your learning. Answers are at the back of the book.
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Definitions and key words


Clear, concise definitions of essential key terms are provided on the page where they appear.


Key words from the specification are highlighted in bold for you throughout the book.
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Revision activities


These activities will help you to understand each topic in an interactive way.
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Exam practice


Practice exam questions are provided for each topic. Use them to consolidate your revision and practise your exam skills.
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Online


Go online to check your answers to the exam questions and try out the extra quick quizzes at www.therevisionbutton.co.uk/myrevisionnotes
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Countdown to my exams
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6–8 weeks to go




•  Start by looking at the specification — make sure you know exactly what material you need to revise and the style of the examination. Use the revision planner on pages 4 and 5 to familiarise yourself with the topics.


•  Organise your notes, making sure you have covered everything on the specification. The revision planner will help you to group your notes into topics.


•  Work out a realistic revision plan that will allow you time for relaxation. Set aside days and times for all the subjects that you need to study, and stick to your timetable.


•  Set yourself sensible targets. Break your revision down into focused sessions of around 40 minutes, divided by breaks. These Revision Notes organise the basic facts into short, memorable sections to make revising easier.
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4–6 weeks to go




•  Read through the relevant sections of this book and refer to the examiner’s tips, examiner’s summaries, typical mistakes and key terms. Tick off the topics as you feel confident about them. Highlight those topics you find difficult and look at them again in detail.


•  Test your understanding of each topic by working through the ‘Now test yourself’ questions and ‘Revision activities’ in the book. Look up the answers at the back of the book.


•  Make a note of any problem areas as you revise, and ask your teacher to go over these in class.


•  Look at past papers. They are one of the best ways to revise and practise your exam skills. Write or prepare planned answers to the exam practice questions provided in this book. Check your answers online and try out the extra quick quizzes at www.therevisionbutton.co.uk/myrevisionnotes



•  Use the revision activities to try different revision methods. For example, you can make notes using mind maps, spider diagrams or flash cards.


•  Track your progress using the revision planner and give yourself a reward when you have achieved your target.
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One week to go




•  Try to fit in at least one more timed practice of an entire past paper and seek feedback from your teacher, comparing your work closely with the mark scheme.


•  Check the revision planner to make sure you haven’t missed out any topics. Brush up on any areas of difficulty by talking them over with a friend or getting help from your teacher.


•  Attend any revision classes put on by your teacher. Remember, he or she is an expert at preparing people for examinations.
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The day before the examination




•  Flick through these Revision Notes for useful reminders, for example the examiner’s tips, examiner’s summaries, typical mistakes and key terms.


•  Check the time and place of your examination.


•  Make sure you have everything you need — extra pens and pencils, tissues, a watch, bottled water, sweets.


•  Allow some time to relax and have an early night to ensure you are fresh and alert for the examination.
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1 The nature of economics
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The economic problem


Economics is concerned with the ways by which societies organise productive resources in order to satisfy people’s wants.


The two key terms in the above definition, resources and wants, are considered below.


Resources


The resources of a country are referred to as factors of production. Four factors of production may be identified.


Land — includes all natural resources, raw materials, the fertility of the soil and resources found in the sea. Some resources are renewable resources, i.e. they can be replaced naturally after use (e.g. solar energy, wind power, wood, fish). Such resources are likely to be sustainable unless they are consumed more quickly than they can be replaced. Others are non-renewable resources, i.e. continued consumption will eventually result in their exhaustion.


Labour — refers to those people involved in the production of goods and services and includes all human effort both physical and mental.


Capital — any man-made aids to production, including factory buildings, offices, machinery and IT equipment, which are used to make other goods and services.


Enterprise — the entrepreneur performs two essential functions:




•  bringing together the other factors of production so that goods and services can be produced and


•  taking the risks involved in production
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Typical mistake


Describing money as capital — you should avoid this. As a factor of production, capital is something tangible which is used to make other goods.
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Now test yourself





1 Identify the factor of production in each of the following cases:







    (a) Copper deposits in Zambia.


    (b) A woman who opens a hairdressing salon.


    (c) Machinery used in car production.


    (d) An engineer making computer games for a company.





Answer on p. 103
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Scarcity and choice



All societies face the problem that wants are infinite but resources are limited in supply. This is the underlying reason for the fundamental economic problem of scarcity. The issue of scarcity means that societies face a series of questions and that a number of choices have to be made.


1 What to produce and how much to produce?


Goods produced are usually classified into consumer goods and services and capital goods and services:




•  Consumer goods are those which give satisfaction (or utility) to consumers (e.g. iphones, curry or cars). Similarly, consumer services give satisfaction or utility (e.g. car repairs, IT services or foreign holidays).


•  Capital goods are those required to produce other goods — both other capital goods and consumer goods. Examples include machinery and factory buildings. Examples of capital services include machinery repair companies and finance companies offering loans to businesses.
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Examiner’s tip


To avoid confusion between capital goods and consumer goods, consider how they are used: anything which is an aid to production is classified as a capital good whereas anything used by someone for final consumption is classified as a consumer good.
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2 How should goods and services be produced?


Production may be labour intensive, i.e. a high proportion of labour used relative to capital, or capital intensive, i.e. a high proportion of capital used relative to labour.


3 How should the goods produced be allocated?


This choice is concerned with the distribution of the goods produced and will affect the degree of equality in the society.


Countries may approach an answer to these questions in different ways. The two extreme forms are:




•  The free market economy — where answers to the above questions are determined by market forces.


•  The command or centrally planned economy — where answers to the above questions are determined by the state.





In practice, all economies are mixed economies — i.e. a mixture of the free market economy and the command economy. What differs between countries is the degree of that mix. The free market and mixed economy are discussed in the next chapter.
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Now test yourself





2 Classify the following into capital and consumer goods:







    (a) A laptop used by a company director for his business.


    (b) A curry eaten by Marie for her lunch.


    (c) A visit to a spa by Kirsten.


    (d) A car used to transport a manager between offices.





Answer on p. 103
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Specialisation and the division of labour


Division of labour occurs when workers specialise in very specific tasks — i.e. the work is divided up into many smaller parts so that each worker is responsible for a very small part of the product or service being provided.



Advantages



The following factors help to explain why the division of labour has been widely adopted.




•  Each worker specialises in tasks for which he or she is best suited.


•  Therefore, he or she only has to be trained in one task.


•  Less time is wasted because a worker no longer has to move from one task to another.


•  In manufacturing such an approach enables production line methods to be employed and allows an increased use of machinery.


•  In turn, this helps to increase productivity and to reduce average costs of production.
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Typical mistake


Thinking that division of labour entails increased training costs. In practice, training costs should be reduced because the worker only has to be trained in one particular task.
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Disadvantages


Despite the above advantages, certain problems are associated with the division of labour including:




•  Monotony and boredom for workers: this could result in a decrease in productivity.


•  Loss of skills: workers trained in one particular task have only limited skills. This could be a problem if they are made redundant.


•  A strike by one group of workers could bring the entire production facility to a standstill.


•  There is a lack of variety because all goods produced on a production line are identical.





Limits to the division of labour


Certain factors will limit the extent to which the division of labour can be applied.




•  The size of the market: if there is only a small market then it will be more difficult to specialise.


•  The type of the product: for example, designer fashion products are likely to be unique and not suitable for division of labour.


•  Transport costs: if these are very high then large-scale production and the division of labour may not be possible.
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Now test yourself





3 Which one of the following would make it more difficult for a firm to adopt a greater degree of specialisation?







    (a) Increasing sales.


    (b) New machinery available.


    (c) Falling costs of transporting goods to consumers.


    (d) Production of unique products which are designed to meet individual consumer wishes.





Answer on p. 103
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Choice and opportunity cost



Scarcity implies that choices must be made. However, each choice involves an opportunity cost. If a country’s resources are used to manufacture one product, then it must forgo an alternative product which could have been produced with those resources. The next best alternative forgone is called the opportunity cost of what has been produced.


Opportunity cost


Opportunity cost, therefore, is a real cost measured in terms of something that is forgone.


Examples of opportunity cost include:




•  For a government: suppose it has £10 million with which to fund one of its two main priorities, both requiring a £10 million investment — building a new hospital or building a new university. If it decides that its first preference is the hospital while the second preference is the university, then the opportunity cost of building the hospital will be building the university.


•  For a firm: it might have to make a choice between two priorities — buying a new IT system and building a new factory. If it chooses the IT system then the opportunity cost is the new factory.


•  For a consumer: a woman might have enough money to buy either an ebook or an itune. If she decides to buy the ebook then the opportunity cost is the itune.
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Typical mistake


Considering opportunity cost in terms of money. This is incorrect: opportunity cost must be measured as a real cost — i.e. in terms of goods forgone when a choice is made.
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Now test yourself





4 Why do societies have to make choices about what to produce?



5 If a person’s top two priorities are a holiday in Greece and a new home cinema system but there is only enough money for one of these, then what would be the opportunity cost of purchasing the home cinema system?





Answers on p. 103
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Economic goods and free goods


Economic goods are created from resources which are limited in supply and so are scarce. Consequently, they command a price.


Free goods are unlimited in supply, such as sunlight or sand on a beach. Consumption by one person does not limit consumption by others. Therefore, the opportunity cost of consuming a free good is zero.
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Now test yourself





6 Why does the consumption of free goods not incur an opportunity cost?





Answer on p. 103
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Positive and normative economics



Positive economic statements


Positive economic statements are based on facts that can be proved or disproved. They include what was, is or will be and these statements can be verified as being true or false by reference to the data or by using a scientific approach.


Economists often use ‘models’ as a way of predicting behaviour. It is possible to make positive statements on the basis of models, such as the impact on price of a product following an increase in demand.


Normative economic statements


Normative economic statements are based on value judgements and are, therefore, subjective. They relate to what:




•  might be good or bad, or


•  should be or ought to be, or


•  would be fair or unfair





Normative economics is usually associated with economic policy. In this unit, for example, it is concerned with issues such as whether or not there should be:




•  a minimum price for alcohol


•  subsidies for green energy (e.g. wind farms)


•  road tolls


•  an increase in the tax on cigarettes


•  more private sector provision in the health service
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Typical mistake


Answers relating to normative statements often refer to these statements as opinions. Although this is not technically incorrect, it is much better to use the term ‘value judgement’ or ‘subjective view’ to describe them.
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Now test yourself





7 Which of the following are positive statements and which are normative statements?







    (a) Taxes on the bankers should be increased.


    (b) The UK experienced a double dip recession in 2011–12.


    (c) New technology has caused a fall in the price of mobile phones.


    (d) High food prices are unfair on the poor.





Answers on p. 103
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Production possibility frontiers (PPFs)


A production possibility frontier shows combinations of two goods which could be produced by an economy if all its resources and employed fully and efficiently. Figure 1.1 shows a PPF.
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Figure 1.1 A production possibility frontier (PPF)





By definition, any point on the PPF (e.g. A, B or C) implies that all resources are fully employed. However, if an economy is operating at point X it would indicate that there are unemployed resources in that economy (e.g. some workers may be unemployed or machinery may be unused).


PPFs and opportunity cost




•  The PPF is drawn as a curve in Figure 1.1.


•  This indicates the principle of increasing opportunity costs — as the output of capital goods is increased, more and more consumer goods must be sacrificed.


•  In Figure 1.2, an increase in output of capital goods from 0M to 0S means that output of consumer goods falls from 0L to 0R.


•  A further increase in output of capital goods from 0S to 0V causes a larger fall in output of consumer goods from 0R to 0T.
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Examiner’s tip


If the PPF was a straight line, the opportunity cost would be constant.
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Figure 1.2 Production possibility frontiers and opportunity cost






PPFs and economic growth



PPFs may be used to illustrate economic growth.




•  Look at Figure 1.2. Suppose that the economy is currently operating at point A on the PPF with 0L consumer goods and 0M capital goods being produced.


•  It is also assumed that the 0M capital goods produced are just sufficient to replace worn-out machinery.


•  If there is a reallocation of resources so that the production of capital goods is increased to 0S, then only 0R consumer goods can now be produced.


•  Therefore the opportunity cost of producing MS more capital goods is LR consumer goods.





This reduction in the output of consumer goods implies a fall in current living standards. However, in the long run there will be economic growth because the extra capital goods will cause an increase in the productive capacity of the economy, resulting in a rightward shift in the PPF as shown below:
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Figure 1.3 Production possibility frontiers and economic growth





It can be seen that if the economy moved from point A to point E then more of both capital goods and consumer goods could be produced. In turn, this implies that living standards would increase in the long run.
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Typical mistake


Students often confuse an increased utilisation of resources with economic growth. Therefore, a movement from point X to point A is not economic growth; it just represents the use of unemployed resources. However, a movement from point A to point E is economic growth because there is an increase in productive capacity associated with a rightward shift of the PPF.
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Now test yourself





8 With reference to the diagram below:
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    (a) What does point Z represent?


    (b) Under what circumstances could the combination of goods at point Y be achieved?


    (c) What is the opportunity cost of increasing the output of consumer goods by RS?


    (d) How might this affect:







        (i) present living standards, and


        (ii) future living standards?





Answers on p. 103
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Factors causing an outward shift in the PPF


Factors which might cause an outward shift in the PPF include:




•  Discovery of new natural resources (e.g. oil).


•  Development of new methods of production which increase productivity.


•  Advances in technology.


•  Improvements in education and training which increase the productivity of the workforce.


•  Factors which lead to an increase in the size of the workforce (e.g. immigration; an increase in the retirement age; better childcare enabling more women to join the workforce).





Factors causing an inward shift in the PPF


Factors which might cause an inward shift in the PPF include:




•  Natural disasters (e.g. earthquakes; floods which cause a destruction of productive capacity).


•  Depletion of natural resources.


•  Factors causing a reduction in the size of the workforce (e.g. emigration; increase in number of years spent in compulsory education).


•  A deep recession which results in a loss of productive capacity, with factories closing down permanently.
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Examiner’s tip


Remember that the PPF represents the possible outputs of two goods which could potentially be produced. Points on the PPF do not represent what is actually produced unless all resources are fully employed.
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